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Topic:- General Knowledge and Logical Knowledge

1)
Complete the series choosing the missing letter/s: / o=d AT/ 3BT hr EGER
AT Tl 9T hifaT

=

52 |pw [or
BY |EV 2
| FU ® |

1. AD
2. KT
3.1

4. HS

Correct Answer :-
« HS

2) If MEDICINE is coded EOJDJEFM, then how is COMPUTER coded? / Tlﬁ MEDICINE &1

EOJDJEFM ¥ $if$d f5aT 9T 8, @t COMPUTER &1 & ifed far s
1. RFUVQNPC
2. RFUVNQPC
3. RFVUQNPC

4. RFEVUNQPC

Correct Answer :-

« RFUVQNPC



3) How many different 5 digit numbers can be formed from the digits 9, 0, 4, 1, 6, so that '0' is in the
tenth place? / 3(®1 9,0, 4, 1, 6, | 5 3% aTei! fora-il =g fAfa 81 g@dl & ford o' 3818 & 3w
WEP?

1. 24
2.84
3. 120

4. 48

Correct Answer :-

. 24

4) Harish wants to meet his friend Farhan. He travels 10 km north and then turns right and travels 2 km.
He then goes east for 5 km before reaching Farhan's home. How many km does he travel? /Eﬁ!ﬂ 3T

fora e ¥ e Trear 21 98 10 TP, Ik Y ok g & 3R iy arg ok geov 2 .
m%lmmaﬁmﬂ%wuﬁaﬁﬁwﬁs%ﬁwﬁaﬁ?m%lﬁﬁmﬁ
T

1. 12 km / 12 T,
2. 17 km / 17 fopmit.
3. 10 km / 10 fopHT.
4. 6 km / 6 .

Correct Answer :-

e 17 km/ 17 THI.

5) In throwing of a dice, the probability of getting an even number is / Th Wﬁﬁﬁﬁ, Udh qHq
TR 3T Bt FUTIAT =1 & aRT1aR il 3-

bt | =

L 1=

-

Correct Answer :-

)



6) In which state is the Digboi Oil Refinery located? / fPasad m’g ad MYF (ﬂ"ﬂ'{:l'a)
PRET YT 32

1. Sikkim / RifdwH
2. Uttar Pradesh / 3T} m
3. Bihar/ ﬁ%ﬁ

4, Assam / IH

Correct Answer :-

o Assam/ 3UH

7) Who is the Deputy Speaker of the Lok Sabha? | AP FHT BT SUTHE Can| % ?
1. Sumitra Mahajan / ﬁ&ﬁﬂ Helsl+

2. Thambi Durai / Tl _g'_i_’ic
3. Mukhtar Abbas Naqvi / TR 3{esT¥ e
4. P JKurien/tﬂ@fW

Correct Answer :-

« Thambi Durai / d%] _g'Tsc

8) Who is the Union Minister for Agriculture and Farmers Welfare? / Tf@ 3R fpam oo &

Fig wht w1 g2

1. Chaudhary Birender Singh / et CiRG- Rig
2. Thaawar Chand Gehlot / YTdX dg TI_Ea'T"h?T

3. Radha Mohan Singh / XTI ﬁl?q g

4, Harsimrat Kaur Badal / SXRI9d DR IEA

Correct Answer :-

e Radha Mohan Singh / XTI IﬁE:[ ﬁl_s'

9) How many Gold Medals did India win at the 12" South Asian Games held in February 2016? /

TR 2016 § TN 129 Sféor eRmars @l § yRd A fras ol ues sfid &2

1. 200

“4)



2. 156
3. 188

4. 96

Correct Answer :-

10) Which award is given for excellence in sports? / Qad Spydl & R s YD IR fear
ST 82

1. Arjuna / \31@:[
2. None of these / gtlﬁ q ﬁ'&p :I_E’pf
3. Jnanpith / JFUIS

4, Jamnalal Bajaj / STHTCTTCT Solof

Correct Answer :-

e Arjuna/ G'IT{I:T

11) Which cricketer won the International Cricketer of the Year at the CEAT Cricket Rating

Av%r;liﬂ%MW/ﬁm%E@m@%ﬁ?qﬁﬁﬁwiﬁﬂw,zonﬁammaﬁw
[ o

1. Virat Kohli / faRTe ®igait
2. R Ashwin / 3R 3{f&=
3. Shikhar Dhawan / [RIGR a1

4. MS Dhoni / THTH YAt

Correct Answer :-
« R Ashwin / 3R 3{f%=

12) Which of the following projects has won the Aga Khan Award for Architecture? ﬁ'ﬂ'lﬁﬁﬁ J
o ufaerT A g e (snfdeamR) & fore e ST W REPR Siar g 2

1. Apni Zameen, Apni Chhat / 301 STHI, 30+ &d
2. Aranya Community Housing, Indore / 3RUYJ W’(ﬁ BRI, SE;R
3. MP Housing Guarantee Scheme /Qtl'tﬁ B'IBﬁFT RS AT

4. Atal Ashraya Yogana / 3ccl T4 BISE]]

Correct Answer :-

» Aranya Community Housing, Indore / 3IRUY W—a B3R, 3%!2
(5)



13) Which State has been ranked first in the Public Affairs Index- 2017? / g Iva &) ArdefAe
ATl S GADIB-2017 B UYH WIH fear man g2

1. Tamil Nadu / ah\-la:ilg
2. Karnataka / FHlch
3. Kerala / B

4, Maharashtra / ﬂ‘s’mg
Correct Answer :-

o Kerala/ Hd

14) Banjar River Project is in the____ Basin. / §6IIR g1 LIRS _ U A B
1. Narmada / TH&T
2. Yamuna / HAT
3. Chambal / I&d

4. Ganga / TRTI

Correct Answer :-

o Narmada / :IT‘ET

15) Where is Nek Chand Rock Garden located? / ®dc 3P S Bl (U 82
1. Chandigarh / Eighla,

2. Jamshedpur / GD:I'@IHH?

3. Ranchi / Tﬁﬁ

4. Darjeeling / afotferT

Correct Answer :-

» Chandigarh / dan [

16) New and Renewable Energy Department of the Madhya Pradesh government was established in

the year ./ It USRI TRPR BT 419 TS ARl St faumT i & wyfue far
T T

1. 2015
2. 2016

3. 2010

(6)



4.2014

Correct Answer :-

« 2010

17) Vishwamitra Award is given to? / ﬁ’lﬂﬁa PRIPR foa ﬁ"ﬂ IGIH %?
1. Physical trainers / ARIN® URI&H

2. Players / m

3. Sports Administrators / a'ﬂET URMdh

4, Coaches / ﬁ%r

Correct Answer :-

« Coaches / ®Id

18) The term ‘The Ashes’ is associated with: / Rleq 'Q'!aﬁf' m '\"ﬁﬁlﬁ%
1. Cricket / fhobe

2. Hockey / &Gl

3. Football / pedldl
4. Swimming / RTD!

Correct Answer :-

e Cricket / fohpe

19) India’s first underwater rail tunnel connects to ./ HIRd &Y q??ﬁ I & = 3
I g, Cal q Sredl g1

1. Chennai, Vishakapatnam / EPERCEICIEREE
2. Navi Mumbai, Mumbai / 4t Haz%, Ha—if
3. Howrah, Kolkata / §TdST, BT

4, Allahabad, Lucknow / g¢llgldlq, I3

Correct Answer :-

« Howrah, Kolkata / TTST, BB

20) Who was the first Indian to win Nobel Prize? /WW EIGEGIG] q?a' YR B9 A2
1. Rabindranath Tagore / JGIA1Y TR

(7)



2. C.V. Raman / ¥ 91 399
3. Amartya Sen / 3md I

4. Kailash Satyarthi / o<1 geareff

Correct Answer :-

« Rabindranath Tagore / Ty IR

21) Who was elected the 14™ President of India? / HIRd BT 147 ?quﬁf foa T T41?
1. Pranab Mukherjee / UUId H"@Gﬁ

2. Venkaiah Naidu / d31 A1Ig

3. Ram NathKovind / SHATY Hifdg

4. Meira Kumar / HRT $HR

Correct Answer :-

¢ Ram NathKovind / JTHATY ﬁﬁ?{

22) Who was the chief guest at India's 68" Republic Day parade in 20172 / 2017 T HURd Bt 6841

TR f3ad Ws & g=7 sfafy s 42

1. Barack Obama / SRT& S{I&THT

2. Shinzo Abe / RRI=1 3fd

3. Sheik Mohammed bin Salman / RRd HIGHG o JeHM

4, Sheik Mohammed bin Zayed Al Nahyan / TG AgWE fo Wi 3reht ArgaH

Correct Answer :-

» Sheik Mohammed bin Zayed Al Nahyan / 9 AgHIG fad e 3feft lgd-d

23) Ustaad Bismillah Khan is associated with: / 3¥ITq mm wﬁ Tdfia %
1. Sitar / RIAR

2. Shehnai / QIE:IIé

3. Tabla / d&dIl
4, Sarod / HQ-E

Correct Answer :-

e Shehnai/ leﬂlé



24) is the largest ever Kolkata-class destroyer ship to be built in India. / HRA

H ST T HEY 981 PIaeTal-a RARe qEv |
1. INS Kolkata / GHSFQ:TW CARGAGII

2. INS Vikrant / aﬂéwﬁwm

3. INS Vikramaditya / G'IT'&FQ?Q'H fammfea

4, INS Chennai / &n'éq:r@a %ﬂé

Correct Answer :-

e INS Chennai / &ﬂéﬁ@ %“Brs‘

25) Complete the series choosing the missing number: / Y& TSI oD Y&l Cg| T

HIfeTg:
2,4,816,32,
1. 62

2.70

3. 64

4. 60

Correct Answer :-

26) Complete the series choosing the missing number: / T BT GADHR YEAT DI T

BHifore:
19,2,38,3,114,4, _
1. 228

2. 352

3. 256

4. 456

Correct Answer :-

27) Complete the series choosing the missing number: / & TSI oD YT Ca T

PHifore:
2,35 ;17,33

1. 352
9)



2. 256
3.9

4. 456

Correct Answer :-

28) Select the option that is true about the Statements and Conclusions given:

Statements:
All trains are shrimps
Some shrimps are cameras

Conclusions:
I. Some trains are cameras
I1I. Some cameras are trains

/| 39 fareq &1 94 P e A e =Y R fAseul & IR & 981 8:
DY:
gt 29 fre &

gt fRivre PR 8
A

L PO ST IWI B
II. $O $UR S 8

1. only conclusion Il follows / Had [AEpY || mm%

2. only conclusion | follows / Had ey | G'Fi’FITUTWﬂT%

3. neither conclusion | nor conclusion Il follows /:Té:fﬁﬁﬁﬁfl s?lvq‘é’rﬁr@mf Il GWW%
4. both conclusion | and Il follows /ﬁmﬂfl 3?R Il E(Pl:ﬁ WW%

Correct Answer :-

e neither conclusion | nor conclusion Il follows /qﬁﬁﬁﬁfl Gthﬁﬁm?ﬁf Il WW%

29) Select the option that is true about the Statements and Conclusions given:

Statements:
Some pigs are geese
Some geese are oranges

Conclusions:

I. Some geese are pigs
I1. Some oranges are geese

(10)



/| 39 fareq &1 984 P sifes A e = R fAseul & IR & 981 8:
DY:

PO YR M &

e

I.W;ﬂﬁﬁm%
II. O R M &

1. only conclusion Il follows / Had ey || \’HWWT%

2. only conclusion | follows / Had ey | mm%

3. neither conclusion | nor conclusion Il follows /:Tﬁﬁﬁﬁh_ﬁfl G'ﬁT:fﬁﬁEﬂf Il WW%
4. both conclusion | and Il follows /ﬁmﬂfl GhT 1] E‘:Fﬁ GIWW%

Correct Answer :-

¢ both conclusion | and Il follows /ﬁ'@ﬁl 3R Eﬁ:ﬁ WW%

30) Select the option that is true about the Statements and Conclusions given:

Statements:
Some stones are buckets
All knocks are stones

Conclusions:
I. Some buckets are stones
I1. Some knocks are buckets

| 39 fawea &1 99 BT Sife 4T 7T w1 3R sl & ar & we 8:

DY

PO TR TIee] &

|t Al TRR §

e

I. $O Sifecdl TRR &

II. $O Al aifeedi &

1. only conclusion Il follows / Had By Il WW%

2. only conclusion | follows / Had e | maﬂ?ﬂ%

3. neither conclusion | nor conclusion Il follows / 7 &1 fsw | 3R T8 s awm?r%

4, both conclusion | and Il follows /ﬁmﬂfl AR ?:a:ﬁ WW%

Correct Answer :-

« only conclusion | follows / ad FHY | STEROT FHT &



31) Select the option that is true about the Statements and Conclusions given:

Statements:
Some tanners are artists
Some artists are pickpockets

Conclusions:
I. Some tanners are pickpockets
II. Some pickpockets are tanners

1 39 fapeu &1 99 Fifore sife fer e syl sik fAspuf S IR A At @
DY:

PO TR PATPR G

e

. O TR ATHAN &

Il $O ATHAL SR &

1. only conclusion Il follows / Had sy || G@TUTW%

2. only conclusion | follows / &Had FpY | e—aﬂwm%

3. neither conclusion I nor conclusion Il follows /:Tfﬁﬁmﬂfl \’rﬁ?:ffﬂﬁ'ﬁaﬂf Il G{WUTW%
4, both conclusion | and Il follows /ﬁEI'TETI 3R a:ﬁ G@WW%

Correct Answer :-

e neither conclusion | nor conclusion Il follows /:{Eﬁﬁwﬁfl @Tqﬁﬁﬁﬁﬁ [ mm%
32) Find the odd one out: / T faum ATd Eﬁﬁﬁ'{:

7, 13, 25, 49, 98

1.25

2.49

3. 98

4.13

Correct Answer :-

33) Choose the number which is different from others in the group: / 3 T&AT &1 T B
e A s A AT 8

6,7,9,12

1.9
(12)



2.7
3.12

4.6

Correct Answer :-

34) One of the heritage sites according to UNESCO is the . | TP & AR favraa
=l § T gl

1. Kesavnath Temple at Ujjain / Io A PHERATY AR
2. Bhojapur / lh'\ﬁ'ﬂ?

3. Jahaz Mahal at Mandu / 918 ¥ STgTol Hgd

4. Khajuraho Monuments / "@W WHRD

Correct Answer :-

» Khajuraho Monuments / @W WHRP

35) The series given below contains a sequence of numbers. Identify the incorrect

combination: / 2 & 7 yRaen #, @A BT TS HH IUTRIA & | T FUIST UgHTC:
15, 30, 50, 60, 85

1. 85

2. 50

3,30

4. 60

Correct Answer :-

36) If ABCDEFis coded ZYXWVU, then how is MERCEDES coded? ? | afé ABCDEF &\
ZYXWvU  $Ifsd far Sitar 8, @ MERCEDES &) & sifsd far smavm?

1. IVNXVHVW
2. XNVIWVHV
3. WHVVNXIV

4. NVIXVWVH

Correct Answer :-

(13)



 NVIXVWVH

37) If MUSICis coded SZWLE, then how is CANOE coded? | af¢ MUSIC & SZWLER
Pifed f5ar 9Id1 8, @ CANOE 9 4 Sifed forar SRm?

1. LSWER
2. FGSEL
3. IFRRG

4. RGFIS

Correct Answer :-

¢ IFRRG

38) The series given below contains a sequence of numbers. Identify the incorrect combination: /= ff

T$ yaan #, T3 BT TS HH SUFRIE & | Ted Jaie g ;
0,3, 8, 15,24, 36

1.24

2.15

3.3

4. 36

Correct Answer :-

e 36

39) In a certain code language, kom nad lis means large circus tent, tif nok nad means
tent is pitched, and mar rit tif means she is crying. Which is the word for pitched in that
code language? /U® WH PIS HTHT ﬁ, kom nad lis 31 34d large circus tent; tif nok nad 1
3 tent is pitched AdT mar rit tif 1 A ¥ she is crying giar %I d PIs UTIT H pitched * f%m
T v &1 swATA fHaT T 82

1. nok
2. tif
3. nad

4, kom

Correct Answer :-

e nok



40) In a certain code language, /i eb eep means roses are blue, kis eeh means red flowers,
eep tim eeh means flowers are vegetables. Which is the word for roses in that code
language? /U®d WTH IS YT H, /ieb eep bl 31 roses are blue; kis eeh BT 3 red
flowers d4T eep tim eeh T 3  flowers are vegetablesﬁ?ﬂ %I ' PIS HIUT H rosesd ﬁl’l'{

g W &1 swATT far T 82
1. li
2. eep

3.eb
4. cannot be determined / 17" ﬂﬂ?ﬂ ?3'7 fa5ar T gHar 55

Correct Answer :-

« cannot be determined / [TEfRT "'It'ﬁ fa5ar T gHar ?

Topic:- Mental Ability and Mental Aptitude

1)
In the sequence shown below, which figure comes next? / A f&& 1 &H #, el
IHid i | HRE?

— A |
& 1) AN ?
L ) | e o
. 1 1 J
i 4] 1 v
f’r'\
1

Correct Answer :-

(15)



2)
. Bl on 2 3 : ¥ 3
Which of the following is between Ea"di | TrafeifEa & O &l E?ﬁT Y & T

grm?

16

25

4.

21
29
3)

If the following two squares shown below overlap, which one of the following options

is formed? / afg &Fa ef adr fdcnfag g7 & o @Fa & & =i a1 v @eeq a=ar &7
C A

2

—
|

C A
)

——

1.

(16)



4,

Correct Answer :-

ST e @

4)
In the sequence shown t@&um comes next? | A T&d IR A #H, Il

iv

(17)



Correct Answer :-

5) The population of a town increased from 2,60,000 to 3,32,800. The percentage of population per
year is: / T XTGY P SIHEAT 2,60,000 § TSHR 3,32,800 81 TS | ufel a8 w151 o1 yfa=e 8:

1. 27%
2.25%
3. 28%

4.26%

Correct Answer :-

e 28%

6) When Krishna traveled 25 km, he found that 3/5™ of his journey was still left. What was the
length of the whole journey? / T 94 25 for i} amT H= AaT 8, 99 SX 71 giaT & fF IS A=A
BT 3/5 YT 34 oft [y B 1 Hyot g #Y avars @ A

72% km / 72 %ﬁ»—&-ﬁ

-

92% km / 92 %ﬁ:-cﬁ
2. s s

62% km / 62%1%:&%

82% kmiSQ%ﬁﬂﬁ

-

(18)



Correct Answer :-

62% km / ezéﬁ#ﬁ

7) A man bought apples at Rs. 25 for 10 and sold them at Rs. 25 per dozen. Find his gain or loss

percent. / TP T&Y 25 UL H 10 AT Wil 8 3R 38 25 U U ol S=aT 8 1 SHBT 14 AT
HIERIGRCEIGE 2]

8) What is the product of the difference between the smallest 4-digit number and the largest 3-digit
number and the sum of the largest 2-digit number and the smallest 3-digit number? / CTYdH 4 3o
HEAT 3R HEWH 3 DI G F 919 & 3R U9 HewH 2 DT HEIT 3R TYad 3 D1 GEI
& TN FT UGS T 82

1. 199

2. 50

3. 9000

4. 10000

Correct Answer :-
¢ 199
9) Value of 312/0.002 is / 312/ 0.002 EFTIIFI%:

1. 15600
(19)



2. 156000
3. 156

4. 155500

Correct Answer :-

* 156000

10) Twenty lamps can be lighted for 6 hr a day for 20 days at a cost of Rs. 100. How much would be

the cost of lighting 40 lamps, 8 hr for 12 days? / 100 vw&aﬁmwzoﬁﬁ%ﬁrqw%uﬁrﬁ?
Pt X A 99 dU yH1iRa frd 5T ad 7112 &Y & fRrg 8 5 3 40 AU Y URIiRG H3A Bt
T faet gt

1. Rs. 150/ 150 30
2. Rs. 160 / 160 ST
3. Rs. 180/ 180 ST

4. Rs. 140 / 140 ST

Correct Answer :-
« Rs. 160/ 160 3T

11) If A is 10 % more than B, then how much is B less than A? /U%A, B lﬂuﬁ'ﬂlﬁm%?ﬁ'
B, A ¥ fa=T &0 gm?

1.12.5%
2.12.14 %
3.9.09 %

4.10 %

Correct Answer :-

* 9.09%

12) If a baker's dozen is 13, how much would be five dozens of baker's dozens? /'*-T% wéa)—\r Gl

GO 13 B, A1 SPX & GolHl P Uid goid foa gRI?
1. 845
2. 936
3. 720
4,780

Correct Answer :-

(20)



13) If each side of a square increases 3 times, then the area of the square increases by: /!T[% Udh i

P AP YIE 3 T[T §¢ AT 8, O 99 BT &A% CCAC iG]
1. 12 times / 12 T[T

2. 9 times / 9 7T

3. 3 times / 3 AT

4. 6 times / 6 [T

Correct Answer :-
e 9times /9 Il

14) Divide 960 into 2 parts such that one exceeds the other by 26. / 960 P12 YT A SHUPR

faurfora &% fo e ymT, gav 3 26 AR 71
1. 534, 426

2. None of the above / STRIF H § IS gl

3. 474, 486

4. 467,493

Correct Answer :-
o 467,493

15) Amit, a furniture seller, plans to sell a table for Rs. 720. If he gained 20%, then what was the cost

price of the table?/ﬂﬁﬂ“ﬁ%@ﬁﬁﬂ?mﬁ, 7206@ﬁwﬁwaﬁaﬁaﬁ!ﬂwm
211 3T 20% ATY U foran B, 9 O &1 59 Yod F91 412

1. Rs. 720 / 720 304
2. Rs. 575/ 575 S0
3. Rs. 850 / 850 ST

4. Rs. 600 / 600 ST

Correct Answer :-

« Rs. 600 /600 30T

16) A father is four times as old as his son today. After 24 years, the ratio of ages of son and father
will be 1:3. Find the present age of the son. / 3TST & & T® fUar 30" U7 & IR T a1 81 24 A0
1S T3 3R fOrar &1 31y &7 SuTd 1:3 N1 UF D1 T 3Tg F1d B |

(21)



1. 48
2.24
3.50

4.22

Correct Answer :-
o 48

17) A team has won 16 matches and lost in 5 of them. If these matches represent 70 % of the total
number of matches to be played, how many more matches should the team win, in order to have a

record of 80 % wins? / T® && 7 16 A9 S 3R 5 R | Tl A AT WA A F A=l BT 70% USRia
Fd ¢ dl g D1 3R fpan iftre A s Trfee oRTd f 80% Sitd &1 Reis 8l w2

1.4
2.6
3.5

4.8

Correct Answer :-

18) In a gathering of 75 people, 35 people can speak English and 50 people can speak Hindi. At the
most, how many people can speak both the languages? / 75 Fﬁ"ﬁﬂ'ﬂ@ HHT ﬁ, 35 91T SRS S

H&d g SR 50 T fg=dl aiet Wohd & | SifRrepaw fam T g1 wTwTah &1 aie 9 d &2
1. 10
2.15
3.25

@dr 35

Correct Answer :-

19) A and B can do a piece of work in 30 days, while B and C can do the same in 24 days and C and
A in 20 days. They all work together for 12 days until A and C leave. How many more days will it

take for B to finish the work? / A 3{¥ B U T4 &Y 30 fa= ¥ [R1T &% Govd €, 5iafd B 3R € 37
24 f& o RT Y TP &, TE € 3N A 3 20 A1 A T % 9Fa 71 3 9 vpry 12 oY 9
:ﬁrﬁ;}mﬁ%,mw%zsaﬁ?cﬁsﬂﬁéﬁl F1d B U B3 F foe B #) foraq ik feq

1. 24 days / 24 f&

(22)



2. 22 days /22 fad
3. 16 days / 16 f&A

4. 20 days / 20 fa

Correct Answer :-

« 20 days /20 f&T

20) The sum of the ages of a father and son is 45 years. Five years ago, the product of their ages was
four times the father's age at that time. The present age of father and son is: / T fiar ik g L4
3TY BT AN 45 T4 8| Uia 99 Ugq, S9! 3T BT UHEGA 39 J9Y fUar $t g | IR A1
3ifere 1| fraT SR O $t adw= 3y §:

1.34, 11
2.40,5
3.36,9

4. 35,10

Correct Answer :-

21) The sum of the ages of a father and son is 45 years. Five years ago, the product of their ages was
four times the father's age at that time. The present age of father and son / Y e iR ga 4| 3
BT AT 45 a9 3| Ui 99 UG, IAS! 3T BT UGS 39 THY a1 B g &7 IR 77 4T e
3R g Ft IdHT 1Y B

1. 34,11
2.40,5
3.36,9

4. 35,10

Correct Answer :-

22) The average weight of a class of 40 students is 55kg. If the weight of the teacher is also included
then the average weight of the class becomes 56 kg. Find the weight of the teacher. / T D ET * 40
faenfay &1 oivTa oo 55 foeom 81 afe Riare &1 o= ot S wfdre 8 oimar &, @t sen &1
3t o 56 fao 81 < 31 Rigre &1 I J1a B

1. 90 kg. / 90 fob3m
2. 96 kg. / 96 fopum

3. 98 kg. / 98 fum
(23)



4.95kg. / 95 fopun

Correct Answer :-

. 96 kg. /96 fobu

23) A train covers a distance of 10 km in 12 min. If its speed is decreased by 10 km/h, then the time
taken by the train to cover the same distance will be: / T® YerTrs! 12 e # 10 fooeft 6t Qﬁ aq
TRl 81 afe saPt i 10 frrfl/der @1 o & &4 g1 ol 8, a1 It g &1 a9 B o Yt
a1 fora ot e e g

1. 16 min / 16 €
2. 18 min / 18 fiFe
3. 14 min/ 14 fBFC
4. 15 min/ 15 fBFE

Correct Answer :-

e 15min/ 15 e

24) A train passes a platform 90 m long in 30 seconds and a man standing on the platform in 15

seconds. What is the speed of the train? /WW 90 HieX dd WeWIH &I 30 GHUs T UR Hdl
2 3R Wk R TS UH &Y & 15 AHUS T UR Sl 8 | YS! 1 7fa 71 32

1. 5 m/s / 5 Hie/AHTS
2.3 m/s / 3 HIERAHUS
3.6 m/s / 6 HIC/AHUS
4.2 n/s / 2 HICAHUS

Correct Answer :-

. 6m/s/6HeAHUS

25) A train crosses a man in 5 sec and a bridge of length 300 m in 20 sec. Find the speed and length

of the train. / TP YENTTS! TP YT B 5 AHUS H UR FHdl § 3N 300 HeX TS aTd TP Yd o1
20 THUS | TR HIdl 3 | TSt B i 3R Tars 91 B

1. 25 m/s, 150 m / 25 HIC/AHUS, 150 Hiex
2. 25 m/s, 100 m / 25 HIe/AHTS, 100 HeR
3. 20 m/s, 150 m / 20 HIeR/AH TS, 150 HIeX
4.20 m/s, 100 m / 20 Hie/AHUS, 100 Hiex

Correct Answer :-

« 20 m/s, 100 m /20 HIeY/ABUS, 100 HIe
(24)



26) Shanthi and Rani start a business investing Rs. 85,000 and Rs. 15,000, respectively. In what ratio
should the profit be divided between them after two years? / =rifer 3R I A HHRT: 85,000 I 3R
15,000 TUA P A% FX TP sqawry U™ fFar| &) aul & ugra 39 9 & v fHa srgura o
a4 Bt fawrfora fasar s anfe?

1.17:3
2.17:23
3.3:4

4,15:23

Correct Answer :-

27) A book seller offers a discount of 10%. Find the price paid by the customer for a book, which is

marked as Rs. 62./@%%10% ﬁ_ﬁ?mmél WW%WWW
YITaT far T g J1d B3, FoRT W 3ifeha gea 62 TUd 81

1. Rs. 50.25 / 50.25 38
2. Rs. 55.80 / 55.80 3UY
3. Rs. 65.50 / 65.50 3TY

4. Rs. 60.75 / 60.75 3UY

Correct Answer :-

« Rs. 55.80/55.80 SUY

28) Which one of the following four addresses is NOT EXACTLY same as the one given below? /ﬁmﬁ'&

T 9R Ual # 4 = 33 T va & St g9+ o1 91 v 181 82

Alfons
Ochsenweg 54,

Melle, 49324

(i) Alfons
Ochsenweg 54,

Melle, 49324

(i) Altons
(25)



Ochsenweg 54,

Melle, 49324

(iii) Alfons
Ochsenweg 54,

Melle, 49324

(iv) Alfons
Ochsenweg 54,
Melle, 49324

1. iii

29) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /:ﬂ%la"lg mﬁ, 3[R} 3N} TE13H} 31 U pH fAfed &1 o Sate uganfa:
i. bftrb5321ftrbb

ii. bftrb5321ftrbb

iii. bftrd5321ftrbb

iv. bftrb5321ftrbb

1. iii

30) Find the average. / 3Id JTaN P

66,72, 78, 84, 90 & 96
(26)



1. 78
2. 80
3. 81
4.79

Correct Answer :-

o 81

Topic:- Science and Simple Arithmetic

1) Simplify: V1849 -v8.41/ 1/18.49 - /841 7 W= Frre:

1.2.6
2. 28
3.1.2

4.14

Correct Answer :-

2)
In the given figure, the arms of two angles are parallel. f #/DEF =34°, then £ABC= AT Y

e #, a1 SIvil T 80 TAEIR 6| If LDEF=34° §.al LABC=___|

Nl
/

E— > F

1 27°
2.17°
3.34°

4. 68°

Correct Answer :-

. 34°



3)
Ja =2 x Y2 x V49, then the value of 'a'is: /1 ¥a =2 x ¥2 x V49, ar
'a’ &I HIA BIE:
1. 196
2,294
3. 648

4. 784

Correct Answer :-

o 784

4)
In the given figure, 'O’ is the center of the circle and if £ZADC =110°, then £CAB= _/few A

= &, '0' gd T Feg § AT A 2ADC=110° BT 2CAB= |

.

1. 30°

2, 10°
3.20°

4, 55°

Correct Answer :-
o 20°

5) Land pollution in which land is unsuitable for farming due to high salt content is known as: /

Y-WgeoT o I AAUHTAT & SR Eelt 3 g oyfHy srguge gl &, 9% Feaan ¢
1. Desertification / HERITIHRUT

2. Salinization / &dUI

3. Carbonization / BTE-IHRUT

4. Oxygenation / RICNISEE]



Correct Answer :-

¢ Salinization / ¢IdUq

6) Vectors are: / Hﬁ?{[%

1. Animals which carry the infecting agents from sick person to healthy person / U] EIREAECRIRE

P SRER T Y TR M TP A I 3
2. Micro-organisms that cause disease / ﬁfﬂ\_rﬂa o BRI ﬁﬂ'&ﬁﬁ %
3. Persons suffering from a disease /ﬁ’T | tﬂ%ﬂ R
4. Plants suffering from a disease / AT tﬁ%ﬁ qg

Correct Answer :-

» Animals which carry the infecting agents from sick person to healthy person / U] S TehfAra 3ifiepdf

DI SRR o W A deh o oid &

7) Find the value of 'x', if 50x = 648 - 2482. / & 50x = 6482 - 2482 §, 1 'x' BT HIF A HI|
1. 6980
2. 7168
3. 6880

4. 7190

Correct Answer :-
o 7168

8) Find the difference between compound interest and simple interest on a sum of Rs. 5000 at 10%
per annum for 3 years. / 5000 T BT YRR W 3 T & T 10% a1 saet $t & W JTURO AT
TUT Ieh g oaTel | SR J1d B

1. Rs. 175 /175 398
2. Rs. 130 /130 300
3. Rs. 140/ 140 39U

4, Rs. 155/155 30

Correct Answer :-

e Rs. 155/155300

9) In our home, the electrical appliances are connected JTIR R ﬁ, ﬁguam

IS Fa 71

(29)



1. in parallel with the source only if it is a high power appliance / gfe gg I=d Xfad arel SUHRI g ol
hael Hld Y JHIR HH H

2. in series with the source / Fid 4 JUf oA T
3. some in series and some in parallel with the source / Hd P 9o T T U P JHIR hH o

4, in parallel with the source / Iid § gHdR HH |

Correct Answer :-

« in parallel with the source / Iid ¥ THIdR HH H

10) Combustion that takes place at high speed is called ./ qed o 3= fd WR 3.1?“%, 37
PeTAEI |

1. Spontaneous burning / ¥dd: G&-
2. Explosion /ﬁwﬂt
3. Incomplete burning / G‘I'QZUT Qg

4. Rapid combustion / gd &

Correct Answer :-

 Rapid combustion / gd ae-1

11) Sky appears blue due to: / SITHIRA 9 HRUI :ﬂ?ﬂm <aT g
1. Dispersion / ICEAWE]

2. Scattering/qaﬂuh

3. Refraction / 3{Odc

4. Reflection / TRTAA

Correct Answer :-

e Scattering / D10

12) Red Data book is the source book which keeps a record of: / TT¢T SICT b Th '\‘EﬁﬁW%
forad g1 RepTs a1 o &:

1. All the migratory birds /g g uféra

2. All the wild life sanctuaries / THT 9= St SIHIRUGS
3. All the endemic species / gt = sfaat

4. Al the endangered species / Tt v PEIIGE]

Correct Answer :-

(30)



 All the endangered species / gt NS PEIIGEI]

13) My age is four times the difference of my age after six years and my age 2 years ago. How old am

1?7 /88t 3g : 99 91 U1 2 a9 gd & SR &Y AR TFT 7 1 A Sy A 32
1.24
2.28
3.36

4. 32

Correct Answer :-

14) A certain data is presented in the form of a frequency distribution using same class size. If the
class mark of the first class interval is 70, and the class size is 20, then the upper limit of the seventh

class interval is: / IO 3PS TRIRAT §e4 & FU H A T ATHR $T IUART Hd g FAefud fd
oITd 81 S Ugdt ot sieRTa &1 3 278 70 7, 3R a7f SR 20 B, & Wiad &t SieRTa Y Hudt Wt gift:

1. 160
2. 220
3. 200

4. 140

Correct Answer :-

e 200

15) ABCD is a rhombus. If ZBCA = 66°, then ZCAD = ./ ABCD & 9Haqys 81 afg 2BCA =
66° ®, dl LCAD = I

1. 30°
2. 66°
3.24°
4, 33°

Correct Answer :-

e 66°

16) The colour of Phenolphthalein in acidic and basic solutions are , respectively. / AT

YT &R faea= § BITawIfer 13 HH: garel

(31)



1. red and blue / T T ATl
2. pink and colourless /{[aﬁamin{ﬂ:f
3. blue and red / EINIGUINIS]
4, colourless and pink / T‘]T:ﬂ:[ ayr ﬂ?l'ld’f

Correct Answer :-

« colourless and pink / 819 TYT I[aTsll

17) The volume of a cuboid is 756cm>. If the area of the base is 108cm2, then its height is: / Th YTH
BT AT 756 T AHY. 81 TfE TR H7 7wt 108 I7f A, B, af ST Fars ghft:

1. 9cm /9 IHT.
2. 6¢cm / 6 T,
3. 7cm /7 9.

4, 11cm/ 11 9,

Correct Answer :-

« 7cm/79H

18) The term “Black Gold’ is used for: / Teg ‘BTl AT’ m form Ugad ghar %i
1. Coal / BIgel

2. Graphite / PLAE

3. Petroleum / ﬂ—@ﬁﬂt{

4. Carbon / T&

Correct Answer :-

e Petroleum / ﬁ@ﬁ‘lm

19) By selling a chair for Rs. 360, a shopkeeper loses 10% of his cost. If he sells it for Rs. 420, then
his profit percent is: / TP HUI B 3607 T IT1 WX, TP GHTGR B ST AT DI 10% B gt B
g a8 SH 420 TUY H d9raT 3 A SHST AT Uferzrd ghm:

1. 3%
2. 8%
3.5%
4. 6%

Correct Answer :-

(32)



20) The muscles found on arms and legs are: / ‘{-FrITGﬁ ayr aﬁﬁtﬂg ST+ qTelt wiau Rt A gidt
1. Unstriated muscles / %nilzi%a usft

2. Smooth muscles / et T=ft

3. Voluntary muscles / Uy Uit

4. Involuntary muscles / 3w Ut

Correct Answer :-

e Voluntary muscles /mﬁ"\’ﬂ

21) Cortex is one type of: / dePC TP YPR PI:
1. Meristematic tissue / faysas Sde %I

2. Ground tissue / W—W%I

3. Vascular tissue / WW%I

4. Epidermal tissue /a'r%w W%I

Correct Answer :-

¢ Ground tissue / HRU[-SHdh %I

22) The area of a trapezium is 495cm?2 and its height is 15cm. If one of the parallel sides
is 26cm longer than the other, then the longer parallel side is: / T JHdd &1 &Awd 495
it A, g 3R IUST HaATs 15 T, 71 Afe FHiaR Yorai # | Th Yo gadt | 26 9. @dt g, @
wd aret YT St darg ghit:

1.32¢m /32 9HI.
2. 46¢m /46 T,
3. 35¢m /35 941

4, 24cm /24 9.

Correct Answer :-

o 46cm /46 THT,

23) PQRS is a rectangle and the diagonal PR and QS meet at 'O". If PR =( x + 6) and OQ =
17cm, then 'x' = . / PQRS T® 3Td & 3R fawvf PR @yt Qs faig '0' W firea €1 9fe PR
=(x+6) 3R 0Q =173, a 'x' = |

(33)



1. 1lcm/ 1139
2. 29cm / 29THY
3. 23cm / 23THT

4, 28cm / 28THY

Correct Answer :-

e 28cm/28TH

24) pjvide x3 - 3x2 -13x +15 by (x - 5) and find the quotient. / x3 - 3x2 -13x +15 @I (x -
5) ¥ U S 3R YRTHE T P}

1, %% -3x+3
2.x%-3x+2
3.x%-x+2
4. x%+2x-3
Correct Answer :-
o x24+2x-3

25) A non-metal with high melting and boiling point is « ] I AP Sﬁ?' BYAP B
Y TH YT 3|

1. chlorine / TR

2. hydrogen / 6|$C§;|GH
3. bromine / S

4, graphite/aw

Correct Answer :-

e graphite /a'cﬁ'l—a'?

26) Which of the following is a monocotyledonous plant? / feddeaar Udhdl CISLEIRID) %?

1. Ground nut/lirmﬁ_('ﬁ

2. Corn / HdhT

3. Bengal gram / Tl

4. Sun flower / ?BT:IH@
Correct Answer :-

(34)



27) Which one of the features mentioned below about decomposers is not applicable to

decomposers?/Wﬁ%?ﬁﬁ:ﬂ%ﬂﬁﬁﬁwaﬁﬁ@ﬁq?ﬁmwmqﬁé?

1. They transfer energy to the next trophic level in the food chain. /9@ ’}[@?ﬂf{ &rrr@ﬂﬁ@wwq?
ol RIFIART FRd g |

2. Decomposers are also scavengers and they clean the earth. /SUYCh Wlﬁ$'1-ﬁ@?f% aﬁ?aq&ﬁﬁ
6 & & |

3. They help in recycling nutrients. / éuﬁwgﬁaﬁmﬁmmél

4. They are also called as saprophytes or reducers. / B% H?ITrﬂ'ﬁ Yl dYDh R 1} ST STl %I

Correct Answer :-

e They transfer energy to the next trophic level in the food chain. /q @M mﬁ 3T tﬁ'@w TR W
ol RN IR B

28) The structures inside a cell can be seen clearly with: / BIRIBT & WX B TEATE sHS
ATEOH | W FY A S o1 JHedl 3

1. Light microscope / Wﬁm

2. Compound microscope /Wﬁ&ﬂ@ﬁ
3. Hand lens /%%’@F\q

4, Electron microscope / 3@3@%‘[ ﬁ&ﬂ’d"«’ﬁ

Correct Answer :-

« Electron microscope / 3@?&%‘[ ﬁ&ﬂ?—‘?ﬁ

29) 0.0000000000425 in the standard form is: / ATH® ¥4 7 0.0000000000425 ?h"'IT:
1.4.25x% 1010

2.42.5x 1010

3.425x 107!

4.425x 107!

Correct Answer :-

e 425x 107!

30) From the group of substances mentioned below, identify two substances that are not
required for photosynthesis. Solar energy , oxygen, water, chemical energy, CO5 , chlorophyll

(39)



/ - fow e verdf & Tgg @, 3 Tyt @Y ugEr $¥ S YHT WAV & e snaxgs 8 €1 9k
SHul, sfeRiie, 59, I9Taf—® Hul, COo,, FaRIfhd

1. O,, chemical energy / O,, S Sl
2. CO,, chemical energy / CO, , S Sl

3. CO,, water / CO,, NIl
4, Water , 02 / §id , 02

Correct Answer :-

e O,, chemical energy / O,, A Sl

(36)



